

APOSTOL TYPE (p, q) -FROBENIUS-EULER POLYNOMIALS AND NUMBERS

UGUR DURAN¹ AND MEHMET ACIKGOZ²

ABSTRACT. In the present paper, we introduce (p, q) -extension of Apostol type Frobenius-Euler polynomials and numbers and investigate some basic identities and properties for these polynomials and numbers, including addition theorems, difference equations, derivative properties, recurrence relations and so on. Then, we provide integral representations, explicit formulas and relations for these polynomials and numbers. Moreover, we discover (p, q) -extensions of Carlitz's result [L. Carlitz, *Mat. Mag.* **32** (1959), 247-260] and Srivastava and Pintér addition theorems in [H. M. Srivastava, A. Pinter, *Appl. Math. Lett.* **17** (2004), 375-380].

1. INTRODUCTION

Throughout this paper, we use the standart notions: \mathbb{N}_0 denotes the set of nonnegative integers, \mathbb{N} denotes the set of the natural numbers, \mathbb{R} denotes the set of real numbers and \mathbb{C} denotes the set of complex numbers.

The (p, q) -numbers are defined as

$$[n]_{p,q} := p^{n-1} + p^{n-2}q + p^{n-3}q^2 + \cdots + pq^{n-2} + q^{n-1} = \frac{p^n - q^n}{p - q}.$$

We can write easily that $[n]_{p,q} = p^{n-1} [n]_{q/p}$, where $[n]_{q/p}$ is the q -number in q -calculus given by $[n]_{q/p} = \frac{(q/p)^n - 1}{(q/p) - 1}$. Thereby, this implies that (p, q) -numbers and q -numbers are different, that is, we can not obtain (p, q) -numbers just by substituting q by q/p in the definition of q -numbers. In the case of $p = 1$, (p, q) -numbers reduce to q -numbers, see [9, 10].

Key words and phrases. (p, q) -calculus, Bernoulli polynomials, Euler polynomials, Genocchi polynomials, Frobenius-Euler polynomials, generating function, Cauchy product.

2010 *Mathematics Subject Classification.* Primary: 05A30, Secondary: 11B68; 11B73.

Received: November 21, 2016.

Accepted: June 23, 2017.

The (p, q) -derivative of a function f with respect to x is defined by

$$(1.1) \quad D_{p,q;x} f(x) := D_{p,q} f(x) = \frac{f(px) - f(qx)}{(p - q)x} \quad (x \neq 0)$$

and $(D_{p,q} f)(0) = f'(0)$, provided that f is differentiable at 0. The linear (p, q) -derivative operator holds the following properties

$$(1.2) \quad D_{p,q}(f(x)g(x)) = g(px)D_{p,q}f(x) + f(qx)D_{p,q}g(x)$$

and

$$(1.3) \quad D_{p,q} \left(\frac{f(x)}{g(x)} \right) = \frac{g(qx)D_{p,q}f(x) - f(qx)D_{p,q}g(x)}{g(px)g(qx)}.$$

The (p, q) -analogue of $(x + a)^n$ is given by

$$(x + a)_{p,q}^n = \begin{cases} (x + a)(px + aq) \cdots (p^{n-2}x + aq^{n-2})(p^{n-1}x + aq^{n-1}), & \text{if } n \geq 1 \\ 1, & \text{if } n = 0 \end{cases}$$

$$= \sum_{k=0}^n \binom{n}{k}_{p,q} p^{\binom{k}{2}} q^{\binom{n-k}{2}} x^k a^{n-k} \quad ((p, q)\text{-Gauss Binomial Formula}),$$

where the (p, q) -Gauss Binomial coefficients $\binom{n}{k}_{p,q}$ and (p, q) -factorial $[n]_{p,q}!$ are defined by

$$\binom{n}{k}_{p,q} = \frac{[n]_{p,q}!}{[n - k]_{p,q}! [k]_{p,q}!} \quad (n \geq k) \text{ and } [n]_{p,q}! = [n]_{p,q} \cdots [2]_{p,q} [1]_{p,q} \quad (n \in \mathbb{N}).$$

The (p, q) -exponential functions,

$$e_{p,q}(x) = \sum_{n=0}^{\infty} \frac{p^{\binom{n}{2}} x^n}{[n]_{p,q}!} \text{ and } E_{p,q}(x) = \sum_{n=0}^{\infty} \frac{q^{\binom{n}{2}} x^n}{[n]_{p,q}!}$$

hold the identities

$$(1.4) \quad e_{p,q}(x)E_{p,q}(-x) = 1 \text{ and } e_{p^{-1},q^{-1}}(x) = E_{p,q}(x),$$

and have the (p, q) -derivatives

$$(1.5) \quad D_{p,q}e_{p,q}(x) = e_{p,q}(px) \text{ and } D_{p,q}E_{p,q}(x) = E_{p,q}(qx).$$

The definite (p, q) -integral is defined by

$$\int_0^a f(x) d_{p,q}x = (p - q)a \sum_{k=0}^{\infty} \frac{p^k}{q^{k+1}} f\left(\frac{p^k}{q^{k+1}}a\right),$$

in conjunction with

$$(1.6) \quad \int_a^b f(x) d_{p,q}x = \int_0^b f(x) d_{p,q}x - \int_0^a f(x) d_{p,q}x \quad (\text{see [22]}).$$

A more detailed statement of above is found in [2, 7, 9, 10, 20, 22].

The classical Bernoulli polynomials and numbers, $B_n(x)$ and B_n , classical Euler polynomials and numbers, $E_n(x)$ and E_n , and classical Genocchi polynomials and numbers, $G_n(x)$ and G_n , are defined by the following generating functions

$$\begin{aligned} \sum_{n=0}^{\infty} B_n(x) \frac{z^n}{n!} &= \frac{z}{e^z - 1} e^{xz} \text{ and } \sum_{n=0}^{\infty} B_n \frac{z^n}{n!} = \frac{z}{e^z - 1} \quad (|z| < 2\pi), \\ \sum_{n=0}^{\infty} E_n(x) \frac{z^n}{n!} &= \frac{2}{e^z + 1} e^{xz} \text{ and } \sum_{n=0}^{\infty} E_n \frac{z^n}{n!} = \frac{2}{e^z + 1} \quad (|z| < \pi), \\ \sum_{n=0}^{\infty} G_n(x) \frac{z^n}{n!} &= \frac{2z}{e^z + 1} e^{xz} \text{ and } \sum_{n=0}^{\infty} G_n \frac{z^n}{n!} = \frac{2z}{e^z + 1} \quad (|z| < \pi), \end{aligned}$$

for detailed information about these numbers and polynomials, see [5, 6, 25, 26].

Apostol-type polynomials and numbers were firstly introduced by Apostol [1] and also Srivastava [26]. Then, Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials and numbers have been studied and investigated by many mathematicians, for instance, Apostol, Araci, Acikgoz, He, Jia, Mahmudov, Luo, Ozarslan, Srivastava, Wang, Wang and Yasar, in [1, 3, 4, 11, 15–18, 26–28]. q -generalizations of mentioned Apostol type polynomials and numbers have been considered and discussed by Kurt, Mahmudov, Keleshteri, Simsek, Srivastava in [14, 19, 23, 24]. Recently, unification of Apostol type polynomials and numbers have been worked by El-Desouky, Gomaa, Kurt, Ozarslan in [8, 13, 21].

Duran et al. [7] defined Apostol type (p, q) -Bernoulli polynomials $B_n^{(\alpha)}(x, y; \lambda : p, q)$ of order α , the Apostol type (p, q) -Euler polynomials $E_n^{(\alpha)}(x, y; \lambda : p, q)$ of order α and the Apostol type (p, q) -Genocchi polynomials $G_n^{(\alpha)}(x, y; \lambda : p, q)$ of order α by the following generating functions:

$$\begin{aligned} \sum_{n=0}^{\infty} \mathcal{B}_n^{(\alpha)}(x, y; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} &= \left(\frac{z}{\lambda e_{p,q}(z) - 1} \right)^\alpha e_{p,q}(xz) E_{p,q}(yz) \\ &\quad (|z + \log \lambda| < 2\pi, 1^\alpha = 1), \\ \sum_{n=0}^{\infty} \mathcal{E}_n^{(\alpha)}(x, y; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} &= \left(\frac{2}{\lambda e_{p,q}(z) + 1} \right)^\alpha e_{p,q}(xz) E_{p,q}(yz) \\ &\quad (|z + \log \lambda| < \pi, 1^\alpha = 1), \\ \sum_{n=0}^{\infty} \mathcal{G}_n^{(\alpha)}(x, y; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} &= \left(\frac{2z}{\lambda e_{p,q}(z) + 1} \right)^\alpha e_{p,q}(xz) E_{p,q}(yz) \\ &\quad (|z + \log \lambda| < \pi, 1^\alpha = 1), \end{aligned}$$

where λ and α are suitable (real or complex) parameters and $p, q, \in \mathbb{C}$ with $0 < |q| < |p| \leq 1$.

Letting $x = 0$ and $y = 0$ above, we then have $B_n^{(\alpha)}(0, 0; \lambda : p, q) := B_n^{(\alpha)}(\lambda : p, q)$, $E_n^{(\alpha)}(0, 0; \lambda : p, q) := E_n^{(\alpha)}(\lambda : p, q)$ and $G_n^{(\alpha)}(0, 0; \lambda : p, q) := G_n^{(\alpha)}(\lambda : p, q)$ called, n -th Apostol type (p, q) -Bernoulli number of order α , n -th Apostol type (p, q) -Euler number of order α and n -th Apostol type (p, q) -Genocchi number of order α , respectively. In

the case $\alpha = 1$, we have

$$\mathcal{B}_n^{(1)}(x, y; \lambda : p, q) := \mathcal{B}_n(x, y; \lambda : p, q), \quad \mathcal{E}_n^{(1)}(x, y; \lambda : p, q) := \mathcal{E}_n(x, y; \lambda : p, q)$$

and

$$\mathcal{G}_n^{(1)}(x, y; \lambda : p, q) := \mathcal{G}_n(x, y; \lambda : p, q)$$

named as n -th Apostol type (p, q) -Bernoulli polynomial, n -th Apostol type (p, q) -Euler polynomial and n -th Apostol type (p, q) -Genocchi polynomial.

Classical Frobenius-Euler polynomials $H_n^{(\alpha)}(x; u)$ of order α are defined by the following Taylor series expansion at $z = 0$:

$$\sum_{n=0}^{\infty} \mathcal{H}_n^{(\alpha)}(x; u) \frac{z^n}{n!} = \left(\frac{1-u}{e^z - u} \right)^\alpha e^{zt},$$

where α is suitable (real or complex) parameter and u is an algebraic number, see [4, 5, 12, 28].

Apostol type Frobenius-Euler polynomials $H_n^{(\alpha)}(x; u; \lambda)$ of order α are defined as follows:

$$\sum_{n=0}^{\infty} \mathcal{H}_n^{(\alpha)}(x; u; \lambda) \frac{z^n}{n!} = \left(\frac{1-u}{\lambda e^z - u} \right)^\alpha e^{zt},$$

where λ and α are suitable (real or complex) parameters and u is an algebraic number, see [3, 23].

The following definition is new and plays an important role in deriving the main results of this paper. Now we are ready to state the following Definition 1.1.

Definition 1.1. Apostol type (p, q) -Frobenius-Euler polynomials $H_n^{(\alpha)}(x, y; u; \lambda : p, q)$ of order α are defined by means of the following Taylor series expansion about $z = 0$:

$$\sum_{n=0}^{\infty} \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} = \left(\frac{1-u}{\lambda e_{p,q}(z) - u} \right)^\alpha e_{p,q}(xz) E_{p,q}(yz),$$

where λ and α are suitable (real or complex) parameters, $p, q, \in \mathbb{C}$ with $0 < |q| < |p| \leq 1$ and u is an algebraic number.

Upon setting $x = 0$ and $y = 0$ in Definition 1.1, we have $H_n^{(\alpha)}(0, 0; u; \lambda : p, q) := H_n^{(\alpha)}(u; \lambda : p, q)$ called n -th Apostol type (p, q) -Frobenius-Euler number of order α . We remark that

$$\begin{aligned} \mathcal{H}_n^{(1)}(x, y; u; \lambda : p, q) &:= \mathcal{H}_n(x, y; u; \lambda : p, q), \\ \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) \Big|_{p=1} &:= \mathcal{H}_{n,q}^{(\alpha)}(x, y; u; \lambda) \quad (\text{see [14] and [23]}), \\ \lim_{\substack{q \rightarrow 1^- \\ p=1}} \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &:= \mathcal{H}_n^{(\alpha)}(x + y; u; \lambda) \quad (\text{see [3]}). \end{aligned}$$

This paper is organized as follows. The second section provides some basic identities and properties for Apostol type (p, q) -Frobenius-Euler polynomials and numbers of order α , including addition theorems, difference equations, derivative properties,

recurrence relations and so on. The third section not only includes integral representations, explicit formulas and relations for $H_n^{(\alpha)}(x, y; u; \lambda : p, q)$, but also provides (p, q) -extensions of Carlitz’s result Eq. (2.19) in [5] and Srivastava and Pintér’s addition theorems between Apostol type (p, q) -Frobenius-Euler polynomials of order α and Apostol type (p, q) -Bernoulli polynomials. The last section deals with some special cases for the results obtained this paper.

2. PRELIMINARIES AND LEMMAS

In this section, we provide some basic formulas and identities for Apostol type (p, q) -Frobenius-Euler polynomials of order α so that we derive the main outcomes of this paper in the next section. We now begin with the following addition theorems for $H_n^{(\alpha)}(x, y; u; \lambda : p, q)$ as Lemma 2.1.

Lemma 2.1. (Additions theorems) *The following relationships hold true:*

$$\begin{aligned} \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &= \sum_{k=0}^n \binom{n}{k}_{p,q} \mathcal{H}_k^{(\alpha)}(u; \lambda : p, q) (x + y)_{p,q}^{n-k} \\ &= \sum_{k=0}^n \binom{n}{k}_{p,q} q^{\binom{n-k}{2}} \mathcal{H}_k^{(\alpha)}(x, 0; u; \lambda : p, q) y^{n-k} \\ &= \sum_{k=0}^n \binom{n}{k}_{p,q} p^{\binom{n-k}{2}} \mathcal{H}_k^{(\alpha)}(0, y; u; \lambda : p, q) x^{n-k}. \end{aligned}$$

Some special cases of Lemma 2.1 are investigated in Corollary 2.1 and 2.2.

Corollary 2.1. *In the case $x = 0$ (or $y = 0$) in Lemma 2.1, we get the following formulas*

$$\begin{aligned} \mathcal{H}_n^{(\alpha)}(x, 0; u; \lambda : p, q) &= \sum_{k=0}^n \binom{n}{k}_{p,q} p^{\binom{n-k}{2}} \mathcal{H}_k^{(\alpha)}(u; \lambda : p, q) x^{n-k}, \\ \mathcal{H}_n^{(\alpha)}(0, y; u; \lambda : p, q) &= \sum_{k=0}^n \binom{n}{k}_{p,q} q^{\binom{n-k}{2}} \mathcal{H}_k^{(\alpha)}(u; \lambda : p, q) y^{n-k}. \end{aligned}$$

Corollary 2.2. *In the case $x = 1$ (or $y = 1$) in Lemma 2.1, we have the following formulas*

$$(2.1) \quad \mathcal{H}_n^{(\alpha)}(x, 1; u; \lambda : p, q) = \sum_{k=0}^n \binom{n}{k}_{p,q} q^{\binom{n-k}{2}} \mathcal{H}_k^{(\alpha)}(x, 0; u; \lambda : p, q),$$

$$(2.2) \quad \mathcal{H}_n^{(\alpha)}(1, y; u; \lambda : p, q) = \sum_{k=0}^n \binom{n}{k}_{p,q} p^{\binom{n-k}{2}} \mathcal{H}_k^{(\alpha)}(0, y; u; \lambda : p, q).$$

We remark that equations (2.1) and (2.2) are (p, q) -generalizations of the following familiar formula:

$$\mathcal{H}_n^{(\alpha)}(x + 1; u; \lambda) = \sum_{k=0}^n \binom{n}{k} \mathcal{H}_k^{(\alpha)}(x; u; \lambda).$$

Note that

$$(2.3) \quad \mathcal{H}_n^{(0)}(x, y; u; \lambda : p, q) = \sum_{k=0}^n \binom{n}{k}_{p,q} p^{\binom{k}{2}} q^{\binom{n-k}{2}} x^k y^{n-k} = (x + y)_{p,q}^n.$$

Lemma 2.2. (Difference equations) *We have*

$$\begin{aligned} \lambda \mathcal{H}_n^{(\alpha)}(1, y; u; \lambda : p, q) - u \mathcal{H}_n^{(\alpha)}(0, y; u; \lambda : p, q) &= (1 - u) \mathcal{H}_n^{(\alpha-1)}(0, y; u; \lambda : p, q), \\ \lambda \mathcal{H}_n^{(\alpha)}(x, 0; u; \lambda : p, q) - u \mathcal{H}_n^{(\alpha)}(x, -1; u; \lambda : p, q) &= (1 - u) \mathcal{H}_n^{(\alpha-1)}(x, -1; u; \lambda : p, q). \end{aligned}$$

Lemma 2.3. (Derivative properties) *We have*

$$\begin{aligned} D_{p,q;x} \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &= [n]_{p,q} \mathcal{H}_{n-1}^{(\alpha)}(px, y; u; \lambda : p, q), \\ D_{p,q;y} \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &= [n]_{p,q} \mathcal{H}_{n-1}^{(\alpha)}(x, qy; u; \lambda : p, q). \end{aligned}$$

Apostol type (p, q) -Frobenius-Euler polynomials $H_n(x, y; u; \lambda : p, q)$ are related to the $B_n(x, y; \lambda : p, q)$, $E_n(x, y; \lambda : p, q)$ and $G_n(x, y; \lambda : p, q)$ as in below.

Lemma 2.4. *We have*

$$\begin{aligned} \mathcal{B}_n(\lambda : p, q) &= \frac{[n]_{p,q}}{\lambda - 1} \mathcal{H}_{n-1}(\lambda^{-1}; 1 : p, q), \\ \mathcal{B}_n(x, y; \lambda : p, q) &= \frac{[n]_{p,q}}{\lambda - 1} \mathcal{H}_{n-1}(x, y; \lambda^{-1}; 1 : p, q), \\ \mathcal{E}_n(\lambda : p, q) &= \frac{2}{\lambda + 1} \mathcal{H}_n(-\lambda^{-1}; 1 : p, q), \\ \mathcal{E}_n(x, y; \lambda : p, q) &= \frac{2}{\lambda + 1} \mathcal{H}_n(x, y; -\lambda^{-1}; 1 : p, q), \\ \mathcal{G}_n(\lambda : p, q) &= \frac{2 [n]_{p,q}}{\lambda + 1} \mathcal{H}_n(-\lambda^{-1}; 1 : p, q), \\ \mathcal{G}_n(x, y; \lambda : p, q) &= \frac{2 [n]_{p,q}}{\lambda + 1} \mathcal{H}_n(x, y; -\lambda^{-1}; 1 : p, q). \end{aligned}$$

Lemma 2.5. *For $\alpha, \beta \in \mathbb{N}$, Apostol type (p, q) -Frobenius-Euler polynomials satisfy the following relations*

$$\begin{aligned} \mathcal{H}_n^{(\alpha+\beta)}(x, y; u; \lambda : p, q) &= \sum_{k=0}^n \binom{n}{k}_{p,q} \mathcal{H}_k^{(\alpha)}(x, 0; u; \lambda : p, q) \mathcal{H}_{n-k}^{(\beta)}(x, 0; u; \lambda : p, q), \\ \frac{u \mathcal{H}_n(x, y; u; \lambda : p, q)}{(u - 1)} &= \frac{\lambda}{(u - 1)} \sum_{k=0}^n \binom{n}{k}_{p,q} p^{\binom{n-k}{2}} \mathcal{H}_k(x, y; u; \lambda : p, q) + (x + y)_{p,q}^n, \\ \mathcal{H}_n^{(\alpha-\beta)}(x, y; u; \lambda : p, q) &= \sum_{k=0}^n \binom{n}{k}_{p,q} \mathcal{H}_k^{(\alpha)}(x, 0; u; \lambda : p, q) \mathcal{H}_{n-k}^{(-\beta)}(0, y; u; \lambda : p, q). \end{aligned}$$

Lemma 2.6. (Recurrence relationship) $H_n^{(\alpha)}(x, y; u; \lambda : p, q)$ holds the following equality:

$$\begin{aligned} & \lambda \sum_{k=0}^n \binom{n}{k}_{p,q} p^{\binom{n-k}{2}} m^k \mathcal{H}_k^{(\alpha)}(x, 0; u; \lambda : p, q) \\ & - u \sum_{k=0}^n \binom{n}{k}_{p,q} p^{\binom{n-k}{2}} m^k \mathcal{H}_k^{(\alpha)}(x, -1; u; \lambda : p, q) \\ & = (1 - u) \sum_{k=0}^n \binom{n}{k}_{p,q} p^{\binom{n-k}{2}} m^k \mathcal{H}_k^{(\alpha-1)}(x, -1; u; \lambda : p, q). \end{aligned}$$

3. MAIN RESULTS

This section includes integral representations, some identities and explicit formulas for $H_n^{(\alpha)}(x, y; u; \lambda : p, q)$. Also, we present new theorems and some (p, q) -extensions of known results in Carlitz [5], Kurt [14], Simsek [23], Srivastava and Pintér [25] and so on. We start with the following explicit formula for Apostol type (p, q) -Frobenius-Euler polynomials of order α by the following theorem.

Theorem 3.1. Apostol type (p, q) -Frobenius-Euler polynomials of order α hold the following relation:

$$\begin{aligned} \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &= \frac{1}{1 - u} \sum_{k=0}^n \binom{n}{k}_{p,q} [\lambda \mathcal{H}_k(1, y; u; \lambda : p, q) \\ & - u \mathcal{H}_k(0, y; u; \lambda : p, q)] \mathcal{H}_{n-k}^{(\alpha)}(x, 0; u; \lambda : p, q). \end{aligned}$$

Proof. Indeed,

$$\begin{aligned} \sum_{n=0}^{\infty} \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} &= \left(\frac{1 - u}{\lambda e_{p,q}(z) - u} \right)^\alpha e_{p,q}(xz) E_{p,q}(yz) \\ &= \left(\sum_{n=0}^{\infty} q^{\binom{n}{2}} y^n \frac{z^n}{[n]_{p,q}!} \right) \left(\sum_{n=0}^{\infty} \mathcal{H}_n^{(\alpha)}(x, 0; u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} \right) \\ &= \sum_{n=0}^{\infty} q^{\binom{k}{2}} y^k \mathcal{H}_{n-k}^{(\alpha)}(x, 0; u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!}. \end{aligned}$$

It remains to use Lemma 2.2 and Eq. (2.3). □

The (p, q) -integral representations of $H_n^{(\alpha)}(x, y; u; \lambda : p, q)$ are given by the following theorem.

Theorem 3.2. We have

$$(3.1) \quad \int_a^b \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) d_{p,q}x = p \frac{\mathcal{H}_{n+1}^{(\alpha)}\left(\frac{b}{p}, y; u; \lambda : p, q\right) - \mathcal{H}_{n+1}^{(\alpha)}\left(\frac{a}{p}, y; u; \lambda : p, q\right)}{[n + 1]_{p,q}},$$

(3.2)

$$\int_a^b \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) d_{p,q}y = p \frac{\mathcal{H}_{n+1}^{(\alpha)}\left(x, \frac{b}{q}; u; \lambda : p, q\right) - \mathcal{H}_{n+1}^{(\alpha)}\left(x, \frac{a}{q}; u; \lambda : p, q\right)}{[n+1]_{p,q}}.$$

Proof. Since

$$\int_a^b D_{p,q}f(x) d_{p,q}x = f(b) - f(a) \quad (\text{see [22]})$$

in terms of Lemma 2.3 and equations. (1.5) and (1.6), we arrive at the asserted result

$$\begin{aligned} \int_a^b \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) d_{p,q}x &= \frac{p}{[n+1]_{p,q}} \int_a^b D_{p,q} \mathcal{H}_{n+1}^{(\alpha)}\left(\frac{x}{p}, y; u; \lambda : p, q\right) d_{p,q}x \\ &= p \frac{\mathcal{H}_{n+1}^{(\alpha)}\left(\frac{b}{p}, y; u; \lambda : p, q\right) - \mathcal{H}_{n+1}^{(\alpha)}\left(\frac{a}{p}, y; u; \lambda : p, q\right)}{[n+1]_{p,q}}. \end{aligned}$$

The other can be shown using similar method. Therefore, we complete the proof of this theorem. □

The integral identities (3.1) and (3.2) are (p, q) -generalizations of the formula

$$\int_a^b \mathcal{H}_n^{(\alpha)}(x; u; \lambda) dx = \frac{\mathcal{H}_{n+1}^{(\alpha)}(b; u; \lambda) - \mathcal{H}_{n+1}^{(\alpha)}(a; u; \lambda)}{n+1}.$$

Here is a recurrence relation of Apostol type (p, q) -Frobenius-Euler polynomials by the following theorem.

Theorem 3.3. *We have*

$$\begin{aligned} \mathcal{H}_{n+1}(x, y; u; \lambda : p, q) &= yp^n \mathcal{H}_n\left(\frac{q}{p}x, \frac{q}{p}y; u; \lambda : p, q\right) + xp^n \mathcal{H}_n(x, y; u; \lambda : p, q) \\ &\quad - \lambda \sum_{k=0}^n \binom{n}{k}_{p,q} q^k p^{n-k} \mathcal{H}_k(x, y; u; \lambda : p, q) \mathcal{H}_{n-k}(1, 0; u; \lambda : p, q). \end{aligned}$$

Proof. For $\alpha = 1$, applying the (p, q) -derivative to $H_n(x, y; u; \lambda : p, q)$ with respect to z yields to

$$\sum_{n=0}^{\infty} D_{p,q;z} \mathcal{H}_n(x, y; u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} = (1-u) D_{p,q;z} \left\{ \frac{e_{p,q}(xz) E_{p,q}(yz)}{\lambda e_{p,q}(z) - u} \right\},$$

using equations (1.2) and (1.3), it becomes

$$\begin{aligned} &(1-u) \frac{(\lambda e_{p,q}(qz) - u) D_{p,q;z} [e_{p,q}(xz) E_{p,q}(yz)]}{(\lambda e_{p,q}(pz) - u) (\lambda e_{p,q}(qz) - u)} \\ &+ (u-1) \frac{e_{p,q}(pxz) E_{p,q}(pyz) D_{p,q;z} (\lambda e_{p,q}(z) - u)}{(\lambda e_{p,q}(pz) - u) (\lambda e_{p,q}(qz) - u)} \\ &= y \sum_{n=0}^{\infty} \mathcal{H}_n\left(\frac{q}{p}x, \frac{q}{p}y; u; \lambda : p, q\right) p^n \frac{z^n}{[n]_{p,q}!} + x \sum_{n=0}^{\infty} \mathcal{H}_n(x, y; u; \lambda : p, q) p^n \frac{z^n}{[n]_{p,q}!} \end{aligned}$$

$$-\lambda \sum_{n=0}^{\infty} \mathcal{H}_n(x, y; u; \lambda : p, q) q^n \frac{z^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} \mathcal{H}_n(1, 0; u; \lambda : p, q) p^n \frac{z^n}{[n]_{p,q}!}.$$

By making use of Cauchy product, comparing the coefficients of $\frac{z^n}{[n]_{p,q}!}$, then we have desired result. □

We now present the symmetric identity for $H_n(x, y; u; \lambda : p, q)$ as given below.

Theorem 3.4. *We have*

$$(3.3) \quad (2u - 1) \sum_{k=0}^n \binom{n}{k}_{p,q} \mathcal{H}_k(u; \lambda : p, q) \mathcal{H}_{n-k}(x, y; 1 - u; \lambda : p, q) \\ = u \mathcal{H}_n(x, y; u; \lambda : p, q) - (1 - u) \mathcal{H}_n(x, y; 1 - u; \lambda : p, q).$$

Proof. If we consider the identity

$$\frac{2u - 1}{(\lambda e_{p,q}(z) - u)(\lambda e_{p,q}(z) - (1 - u))} = \frac{1}{\lambda e_{p,q}(z) - u} - \frac{1}{\lambda e_{p,q}(z) - (1 - u)},$$

then

$$(2u - 1) \frac{(1 - u) e_{p,q}(xz) (1 - (1 - u)) E_{p,q}(yz)}{(\lambda e_{p,q}(z) - u)(\lambda e_{p,q}(z) - (1 - u))} \\ = u \frac{(1 - u) e_{p,q}(xz) E_{p,q}(yz)}{\lambda e_{p,q}(z) - u} - \frac{(1 - u) e_{p,q}(xz) (1 - (1 - u)) E_{p,q}(yz)}{\lambda e_{p,q}(z) - (1 - u)}.$$

Therefore, we deduce

$$(2u - 1) \sum_{n=0}^{\infty} \mathcal{H}_n(0, 0; u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} \mathcal{H}_n(x, y; 1 - u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} \\ = u \sum_{n=0}^{\infty} \mathcal{H}_n(x, y; u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} - (1 - u) \sum_{n=0}^{\infty} \mathcal{H}_n(x, y; 1 - u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!}.$$

Checking against the coefficients of $\frac{z^n}{[n]_{p,q}!}$, then we have desired result in (3.3). □

The relation (3.3) is a (p, q) -generalization of Carlitz’s result Eq. (2.19) in [5].

Theorem 3.5. *The following relation is valid for Apostol type (p, q) -Frobenius-Euler polynomials:*

$$u \mathcal{H}_n(x, y; u; \lambda : p, q) = \lambda \sum_{k=0}^n \binom{n}{k}_{p,q} p^{\binom{n-k}{2}} \mathcal{H}_k(x, y; u; \lambda : p, q) - (1 - u) (x + y)_{p,q}^n.$$

Proof. From the relation (1.4) and the identity

$$\frac{u}{\lambda (\lambda e_{p,q}(z) - u) e_{p,q}(z)} = \frac{1}{\lambda e_{p,q}(z) - u} - \frac{1}{\lambda e_{p,q}(z)},$$

we write

$$\frac{u(1 - u) e_{p,q}(xz) E_{p,q}(yz)}{(\lambda e_{p,q}(z) - u) \lambda e_{p,q}(z)}$$

$$= \frac{(1-u)e_{p,q}(xz)E_{p,q}(yz)}{\lambda e_{p,q}(z) - u} - \frac{(1-u)e_{p,q}(xz)E_{p,q}(yz)}{\lambda e_{p,q}(z)},$$

which gives

$$\begin{aligned} & \frac{u}{\lambda} \sum_{n=0}^{\infty} \mathcal{H}_n(x, y; u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} \\ &= \sum_{n=0}^{\infty} \mathcal{H}_n(x, y; u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} \sum_{n=0}^{\infty} p^{\binom{n}{2}} \frac{z^n}{[n]_{p,q}!} - \frac{1-u}{\lambda} \sum_{n=0}^{\infty} (x+y)_{p,q}^n \frac{z^n}{[n]_{p,q}!}. \end{aligned}$$

Equating the coefficients of $\frac{z^n}{[n]_{p,q}!}$, we derive asserted result. □

We are in a position to provide some relationships for Apostol type (p, q) -Frobenius-Euler polynomials of order α related to Apostol type (p, q) -Bernoulli polynomials, Apostol type (p, q) -Euler polynomials and Apostol type (p, q) -Genocchi polynomials in Theorems 3.6, 3.7 and 3.8.

Theorem 3.6. *The following recurrence relations are valid:*

$$\begin{aligned} \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &= \sum_{s=0}^{n+1} \binom{n+1}{s}_{p,q} \frac{\mathcal{H}_{n+1-s}^{(\alpha)}(0, y; u; \lambda : p, q)}{[n+1]_{p,q}} \\ &\quad \times \left\{ \lambda \sum_{k=0}^s \binom{s}{k}_{p,q} \mathcal{B}_{s-k}(x, 0; \lambda : p, q) p^{\binom{k}{2}} - \mathcal{B}_s(x, 0; \lambda : p, q) \right\}, \\ \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &= \sum_{s=0}^{n+1} \binom{n+1}{s}_{p,q} \frac{\mathcal{H}_{n+1-s}^{(\alpha)}(x, 0; u; \lambda : p, q)}{[n+1]_{p,q}} \\ &\quad \times \left\{ \lambda \sum_{k=0}^s \binom{s}{k}_{p,q} \mathcal{B}_{s-k}(0, y; \lambda : p, q) p^{\binom{k}{2}} - \mathcal{B}_s(0, y; \lambda : p, q) \right\}. \end{aligned}$$

Proof. Indeed,

$$\begin{aligned} & \left(\frac{1-u}{\lambda e_{p,q}(z) - u} \right)^\alpha e_{p,q}(xz)E_{p,q}(yz) \\ &= \left(\frac{1-u}{\lambda e_{p,q}(z) - u} \right)^\alpha E_{p,q}(yz) \frac{z}{\lambda e_{p,q}(z) - 1} \frac{\lambda e_{p,q}(z) - 1}{z} e_{p,q}(xz) \\ &= \frac{1}{z} \left[\lambda \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k}_{p,q} \mathcal{B}_{n-k}(x, 0; \lambda : p, q) p^{\binom{k}{2}} \frac{z^n}{[n]_{p,q}!} - \sum_{n=0}^{\infty} \mathcal{B}_n(x, 0; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} \right] \\ &\quad \times \sum_{n=0}^{\infty} \mathcal{H}_n^{(\alpha)}(0, y; u; \lambda : p, q) \frac{z^n}{[n]_{p,q}!} \\ &= \sum_{n=0}^{\infty} \left[\lambda \sum_{s=0}^n \binom{n}{s}_{p,q} \sum_{k=0}^s \binom{s}{k}_{p,q} \mathcal{B}_{s-k}(x, 0; \lambda : p, q) p^{\binom{k}{2}} - \sum_{s=0}^n \binom{n}{s}_{p,q} \mathcal{B}_s(x, 0; \lambda : p, q) \right] \end{aligned}$$

$$\times \mathcal{H}_{n-s}^{(\alpha)}(0, y; u; \lambda : p, q) \frac{z^{n-1}}{[n]_{p,q}!}.$$

By using Cauchy product and comparing the coefficients of $\frac{z^n}{[n]_{p,q}}$, the proof is completed. □

Theorem 3.7. *We have*

$$\begin{aligned} \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &= \sum_{s=0}^n \binom{n}{s}_{p,q} \frac{\mathcal{H}_{n-s}^{(\alpha)}(0, y; u; \lambda : p, q)}{2} \\ &\quad \times \left\{ \lambda \sum_{k=0}^s \binom{s}{k}_{p,q} \mathcal{E}_k(x, 0; \lambda : p, q) p^{\binom{s-k}{2}} + \mathcal{E}_s(x, 0; \lambda : p, q) \right\}, \\ \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &= \sum_{s=0}^n \binom{n}{s}_{p,q} \frac{\mathcal{H}_{n-s}^{(\alpha)}(x, 0; u; \lambda : p, q)}{2} \\ &\quad \times \left\{ \lambda \sum_{k=0}^s \binom{s}{k}_{p,q} \mathcal{E}_k(0, y; \lambda : p, q) p^{\binom{s-k}{2}} + \mathcal{E}_s(0, y; \lambda : p, q) \right\}. \end{aligned}$$

Proof. The proof is based on the following equalities

$$\begin{aligned} \left(\frac{1-u}{\lambda e_{p,q}(z) - u} \right)^\alpha e_{p,q}(xz) E_{p,q}(yz) &= \left(\frac{1-u}{\lambda e_{p,q}(z) - u} \right)^\alpha e_{p,q}(xz) \\ &\quad \times \frac{2}{\lambda e_{p,q}(z) + 1} \frac{\lambda e_{p,q}(z) + 1}{2} E_{p,q}(yz), \\ \left(\frac{1-u}{\lambda e_{p,q}(z) - u} \right)^\alpha e_{p,q}(xz) E_{p,q}(yz) &= \left(\frac{1-u}{\lambda e_{p,q}(z) - u} \right)^\alpha E_{p,q}(yz) \\ &\quad \times \frac{2}{\lambda e_{p,q}(z) + 1} \frac{\lambda e_{p,q}(z) + 1}{2} e_{p,q}(xz) \end{aligned}$$

and is similar to that of Theorem 3.6. □

Theorem 3.8. *Each of the following recurrence relations holds true:*

$$\begin{aligned} \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &= \sum_{s=0}^{n+1} \binom{n+1}{s}_{p,q} \frac{\mathcal{H}_{n+1-s}^{(\alpha)}(0, y; u; \lambda : p, q)}{2 [n+1]_{p,q}} \\ &\quad \times \left\{ \lambda \sum_{k=0}^s \binom{s}{k}_{p,q} \mathcal{G}_{s-k}(x, 0; \lambda : p, q) p^{\binom{k}{2}} + \mathcal{G}_s(x, 0; \lambda : p, q) \right\}, \\ \mathcal{H}_n^{(\alpha)}(x, y; u; \lambda : p, q) &= \sum_{s=0}^{n+1} \binom{n+1}{s}_{p,q} \frac{\mathcal{H}_{n+1-s}^{(\alpha)}(x, 0; u; \lambda : p, q)}{2 [n+1]_{p,q}} \\ &\quad \times \left\{ \lambda \sum_{k=0}^s \binom{s}{k}_{p,q} \mathcal{G}_{s-k}(0, y; \lambda : p, q) p^{\binom{k}{2}} + \mathcal{G}_s(0, y; \lambda : p, q) \right\}. \end{aligned}$$

Proof. By making use of the following equalities

$$\begin{aligned} \left(\frac{1-u}{\lambda e_{p,q}(z)-u}\right)^\alpha e_{p,q}(xz) E_{p,q}(yz) &= \left(\frac{1-u}{\lambda e_{p,q}(z)-u}\right)^\alpha e_{p,q}(xz) \\ &\quad \times \frac{2z}{\lambda e_{p,q}(z)+1} \frac{\lambda e_{p,q}(z)+1}{2z} E_{p,q}(yz), \\ \left(\frac{1-u}{\lambda e_{p,q}(z)-u}\right)^\alpha e_{p,q}(xz) E_{p,q}(yz) &= \left(\frac{1-u}{\lambda e_{p,q}(z)-u}\right)^\alpha E_{p,q}(yz) \\ &\quad \times \frac{2z}{\lambda e_{p,q}(z)+1} \frac{\lambda e_{p,q}(z)+1}{2z} e_{p,q}(xz), \end{aligned}$$

the proof of these theorem is completed similar to that of Theorem 3.6. \square

4. CONCLUSION

In the present paper, we have introduced (p, q) -extension of Apostol type Frobenius-Euler polynomials and numbers and investigated some basic identities and properties for these polynomials and numbers, including addition theorems, difference equations, derivative properties, recurrence relations and so on. Thereafter, we have given integral representations, explicit formulas and relations for mentioned newly defined polynomials and numbers. Henceforth, we have obtained (p, q) -extensions of Carlitz's result [5] and Srivastava and Pintér addition theorems in [25]. The results obtained here reduce to known properties of q -polynomials mentioned in this paper when $p = 1$. Also, in the event of $q \rightarrow p = 1$, our results reduce to ordinary results for Apostol type Frobenius-Euler polynomials and numbers.

Acknowledgements. The first author is supported by TUBITAK BIDEB 2211-A Scholarship Programme.

REFERENCES

- [1] T. M. Apostol, *On the Lerch zeta function*, Pacific J. Math. **1** (1951), 161–167.
- [2] S. Araci, U. Duran and M. Acikgoz, *On (ρ, q) -Volkenborn integration*, J. Number Theory **171** (2017), 18–30.
- [3] A. Bayad and T. Kim, *Identities for Apostol-type Frobenius-Euler polynomials resulting from the study of a nonlinear operator*, Russ. J. Math. Phys. **23**(2) (2016), 164–171.
- [4] S. Araci and M. Acikgoz, *A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials*, Adv. Stud. Contemp. Math. **22**(3) (2012), 399–406.
- [5] L. Carlitz, *Eulerian numbers and polynomials*, Math. Mag. **32** (1959), 247–260.
- [6] G. S. Cheon, *A note on the Bernoulli and Euler polynomials*, Appl. Math. Lett. **16** (2003), 365–368.
- [7] U. Duran and M. Acikgoz, *Apostol type (p, q) -Bernoulli, (p, q) -Euler and (p, q) -Genocchi polynomials and numbers*, Comput. Math. Appl. **8**(1) (2017), 7–30.
- [8] B. S. El-Desouky and R. S. Gomaa, *A new unified family of generalized Apostol–Euler, Bernoulli and Genocchi polynomials*, Comput. Appl. Math. **247** (2014), 695–702.

- [9] V. Gupta, (p, q) -Baskakov-Kantorovich operators, *Appl. Math. Inf. Sci.* **10**(4) (2016), 1551–1556.
- [10] V. Gupta and A. Aral, Bernstein Durrmeyer operators and based on two parameters, *Facta Universitatis (Niš), Ser. Math. Inform.* **31**(1) (2016), 79–95.
- [11] Y. He, S. Araci, H. M. Srivastava and M. Acikgoz, Some new identities for the Apostol–Bernoulli polynomials and the Apostol–Genocchi polynomials, *Appl. Math. Comput.* **262** (2015), 31–41.
- [12] D. S. Kim, T. Kim, S.-H. Lee and J.-J. Seo, A note on q -Frobenius-Euler numbers and polynomials, *Adv. Stud. Theory Phys.* **7**(18) (2013), 881–889.
- [13] V. Kurt, Some symmetry identities for the unified Apostol-type polynomials and multiple power sums, *Filomat*, **30**(3) (2016), 583–592.
- [14] B. Kurt, A note on the Apostol type q -Frobenius-Euler polynomials and generalizations of the Srivastava-Pinter addition theorems, *Filomat*, **30**(1) (2016), 65–72.
- [15] Q.-M. Luo, On the Apostol-Bernoulli polynomials, *Cent. Eur. J. Math.* **2**(4) (2004), 509–515.
- [16] Q.-M. Luo, Some results for the q -Bernoulli and q -Euler polynomials, *J. Math. Anal. Appl.* **363** (2010), 7–10.
- [17] Q.-M. Luo and H. M. Srivastava, q -extension of some relationships between the Bernoulli and Euler polynomials, *Taiwanese J. Math.* **15**(1) (2011), 241–257.
- [18] N. I. Mahmudov, On a class of q -Bernoulli and q -Euler polynomials, *Adv. Differential Equations* **2013**(108) (2013), 11 pages.
- [19] N. I. Mahmudov and M. E. Keleshteri, q -Extension for the Apostol type polynomials, *J. Appl. Math.* (2014), ID 868167, 7 pages.
- [20] G. V. Milovanovic, V. Gupta and N. Malik, (p, q) -Beta functions and applications in approximation, *Bol. Soc. Mat. Mex.* (2016), 1–19.
- [21] M. A. Ozarslan, Unified Apostol-Bernoulli, Euler and Genocchi polynomials, *Comput. Math. Appl.* **62** (2011), 2452–2462.
- [22] P. N. Sadjang, On the fundamental theorem of (p, q) -calculus and some (p, q) -Taylor formulas, *Resultas Math.* (to appear).
- [23] Y. Simsek, Generating functions for q -Apostol type Frobenius-Euler numbers and polynomials, *Axioms* **1** (2012), 395–403.
- [24] H. M. Srivastava, Some generalizations and basic (or q -)extensions of the Bernoulli, Euler and Genocchi polynomials, *Appl. Math. Inf. Sci.* **5** (2011), 390–444.
- [25] H. M. Srivastava and A. Pinter, Remarks on some relationships between the Bernoulli and Euler polynomials, *Appl. Math. Lett.* **17** (2004), 375–380.
- [26] H. M. Srivastava, Some formulas for the Bernoulli and Euler polynomials at rational arguments, *Math. Proc. Cambridge Philos. Soc.* **129** (2000), 77–84.
- [27] W. Wang, C. Jia and T. Wang, Some results on the Apostol-Bernoulli and Apostol-Euler polynomials, *Comput. Math. Appl.* **55** (2008), 1322–1332.
- [28] B. Y. Yasar and M. A. Özarslan, Frobenius-Euler and Frobenius-Genocchi polynomials and their differential equations, *New Trends Math. Sci.* **3**(2) (2015), 172–180.

¹DEPARTMENT OF THE BASIC CONCEPTS OF ENGINEERING,
FACULTY OF ENGINEERING AND NATURAL SCIENCES,
ISKENDERUN TECHNICAL UNIVERSITY,
TR-31200, HATAY, TURKEY
Email address: duran.ugur@yahoo.com

²DEPARTMENT OF MATHEMATICS,
FACULTY OF SCIENCE,
UNIVERSITY OF GAZIANTEP,
GAZIANTEP, TURKEY
Email address: acikgoz@gantep.edu.tr